OLIVEHURST PUBLIC UTILITY DISTRICT - OVERTIME REPORT FOR THE FOR THE WORK OF April 2022

DATE	DAY	HOURS	EMPLOYEE	TIME	DESCRIPTION
04/26/22	Tuesday	1.00	Aust, H	1:00 PM	Hazmat meeting
04/26/22	Tuesday	3.00	Aust, H	6:00 PM	Staff meeting / Drill
04/29/22	Friday	17.00	Aust, H	3:00 AM	Sentenial Response Drill
04/29/22	Friday	24.00	Bellinger, T	8:00 AM	Vacation coverage
04/26/22	Tuesday	2.00	Carpineta, A	7:00 PM	Drill
04/22/22	Friday	1.00	Caselli, C	8:00 AM	Station coverage
04/23/22	Saturday	24.00	Caselli, C	8:00 AM	Vacation coverage
04/30/22	Saturday	12.00	Fisher, J	8:00 AM	Shift coverage
04/26/22	Tuesday	3.00	Fisher, J	6:00 PM	Drill
04/27/22	Wednesday	2.00	Joseph, J	5:00 PM	LS 1 high level fault
04/18/22	Monday	2.00	MacDonald, B	4:00 PM	Manager request - water leak Thanes Ct
04/20/22	Wednesday	2.00	MacDonald, B	5:22 PM	No water reported
04/22/22	Friday	2.00	MacDonald, B	4:55 PM	Possible water main leak
04/23/22	Saturday	1.00	Murray, L	11:00 PM	MVA
04/28/22	Thursday	3.00	Murray, L	12:00 PM	Weed abatement
04/29/22	Friday	6.00	Murray, L	8:00 AM	Weed abatement
04/22/22	Friday	3.00	Nielsen, D	3:30 PM	Troubleshoot RON 1 LS
04/23/22	Saturday	8.00	Nielsen, D	7:00 AM	Pump down LS at RON 1
04/23/22	Saturday	8.00	Nielsen, D	7:00 AM	Pump down LS at RON 1
04/21/22	Thursday	2.00	Pomeroy, N	12:06 AM	Gold Village High Sump Level callout
04/28/22	Thursday	1.00	Rodriguez, G	4:00 PM	Tahitti Village callout
04/30/22	Saturday	2.00	Rodriguez, G	3:00 PM	Wheeler Ranch Water System alarm
04/26/22	Tuesday	2.00	Staton, S	7:00 PM	Drill
04/29/22	Friday	17.00	Staton, S	3:00 AM	Sentenial Response Drill
05/03/22	Tuesday	4.00	Ackerly, M	3:30 PM	AT&T Bore through SS Main
05/02/22	Monday	1.00	Aust, H	9:30 AM	First Due Meeting
05/02/22	Thursday	2.00	Aust, H	9:30 PM	Structure fire
05/03/22	Tuesday	2.00	Aust, H	2:45 PM	Aircraft fire
05/10/22	Tuesday	2.00	Aust, H	7:00 PM	Drill
05/15/22	Sunday	1.00	Aust, H	7:00 PM	Auto Aid structure fire
05/04/22	Wednesday	24.00	Bellinger, T	8:00 AM	Vacation coverage
05/10/22	Tuesday	2.00	Bellinger, T	7:00 PM	Drill
05/15/22	Sunday	1.00	Carpineta, A	7:30 PM	Station coverage
05/10/22	Tuesday	2.00	Caselli, C	7:00 PM	Drill
05/05/22	Thursday	24.00	Caselli, C	8:00 AM	Vacation coverage
05/04/22	Wednesday	2.00	MacDonald, B	2:00 AM	Wheeler Ranch Water System alarm
05/04/22	Wednesday	2.00	MacDonald, B	7:00 PM	Water leak callout
05/05/22	Thursday	2.00	MacDonald, B	3:00 AM	Water leak callout
05/06/22	Friday	2.00	MacDonald, B	4:30 PM	Hydrant flush

05/07/22	Saturday	2.00	MacDonald, B	11:00 AM	Water leak callout
05/10/22	Tuesday	2.00	Chubb, C	8:00 AM	Station coverage
05/10/22	Tuesday	2.00	Chubb, C	7:00 PM	Drill
05/02/22	Monday	7.00	Fisher, J	12:00 AM	Fire call out
05/13/22	Friday	1.00	Fisher, J	9:30 PM	MVA
05/02/22	Monday	5.00	Joseph, J	3:30 PM	AT&T Bore through SS Main
05/10/22	Tuesday	0.50	MacDonald, B	12:40 PM	Turn off
05/10/22	Tuesday	2.00	MacDonald, B	4:00 PM	Turn on
05/11/22	Wednesday	2.00	MacDonald, B	7:49 PM	Turn off
05/14/22	Saturday	2.00	MacDonald, B	6:00 AM	Customer callout
05/14/22	Saturday	2.00	MacDonald, B	11:10 AM	Turn on
05/15/22	Sunday	2.00	MacDonald, B	3:51 AM	Wheeler Ranch Water System alarm
05/15/22	Sunday	2.00	MacDonald, B	8:54 PM	Plugged sewer
05/02/22	Monday	1.00	MacDonald, B	4:00 PM	Finishing finals
05/03/22	Tuesday	1.00	MacDonald, B	4:00 PM	Finishing finals
05/06/22	Friday	1.00	MacDonald, B	4:00 PM	Finishing finals
05/02/22	Monday	1.00	McClure, J	4:00 PM	Plugged sewer
05/11/22	Wednesday	1.00	Menchaca, L	4:00 PM	Manager request
05/05/22	Thursday	2.00	Murray, L	10:20 AM	Fire & MVA
05/10/22	Tuesday	3.00	Murray, L	6:00 PM	Meeting & Drill
05/13/22	Friday	1.00	Murray, L	9:30 PM	MVA
05/14/22	Saturday	1.00	Murray, L	5:00 AM	Grass fire
05/14/22	Saturday	6.00	Nielsen, D	6:00 AM	Developer inspections
05/02/22	Monday	5.00	Nielsen, D	3:30 PM	AT&T Bore through SS Main
05/03/22	Tuesday	4.00	Nielsen, D	3:30 PM	AT&T Bore through SS Main
05/04/22	Wednesday	1.00	Nielsen, D	3:30 PM	Maplehurst callout
05/02/22	Monday	5.00	Phillips, J	3:30 PM	AT&T Bore through SS Main
05/03/22	Tuesday	4.00	Phillips, J	3:30 PM	AT&T Bore through SS Main
05/10/22	Tuesday	1.00	Pomeroy, N	6:08 PM	Gold Village High Sump Level callout
05/10/22	Tuesday	1.00	Pomeroy, N	11:05 PM	Gold Village High Aeration Level callout
05/08/22	Sunday	24.00	Staton, S	8:00 AM	Vacation coverage
05/10/22	Tuesday	2.00	Staton, S	7:00 PM	Drill
05/10/22	Tuesday	1.00	Teal, L	11:00 PM	Gold Village High Aeration Level callout

Total: 318.50

DATE	DAY	HOURS	EMPLOYEE	TIME	DESCRIPTION
04/29/22	Friday	2.00	Joseph, J	3:30 PM	Plant water leak
05/02/22	Monday	5.00	Ackerly, M	3:30 PM	AT&T Bore through SS Main
05/13/22	Friday	3.00	Joseph, J	7:00 PM	High wetwell @ LS 16
05/03/22	Tuesday	4.00	Joseph, J	3:30 PM	AT&T Bore through SS Main
05/04/22	Wednesday	1.00	Joseph, J	3:30 PM	Maplehurst callout
05/03/22	Tuesday	1.75	Ritchie, B	4:00 PM	Fire and Parks Committee Meetings

05/04/22	Wednesday	1.25	Ritchie, B	5:30 PM	Water and Waterwater Committee Meeting
05/03/22	Tuesday	1.00	Velazquez, J	5:00 PM	Parks Committee Meeting
	Saturday				

Total: 19.00

SUMMARY OF OVERTIME PAID AND COMPENSATORY TIME OFF ACCRUED

		 712	ENSATORT TIME OF ACCROED
HOURS	WAGES	TOTAL	EMPLOYEE
29.00	\$37.67	\$ 1,092.43	Aust, H
9.00	\$28.50	\$ 256.50	Ackerly, M
-	\$48.20	\$ -	Bechtel, E
50.00	\$23.73	\$ 1,186.50	Bellinger, T
3.00	\$31.64	\$ 94.92	Carpineta, A
51.00	\$31.64	\$ 1,613.64	Caselli, C
-	\$41.55	\$ -	Castillo, R
4.00	\$23.51	\$ 94.04	Chubb, C
23.00	\$30.20	\$ 694.60	Fisher, J
-	\$27.21	\$ -	Galluzzo, J
17.00	\$31.43	\$ 534.31	Joseph, J
-	\$38.42	\$ -	Lewis, A
31.50	\$32.03	\$ 1,008.95	MacDonald, B
1.00	\$48.05	\$ 48.05	Menchaca, L
-	\$51.80	\$ -	Koller, S
1.00	\$23.87	\$ 23.87	McClure, J
-	\$26.31	\$ -	Monahan, B
17.00	\$32.87	\$ 558.79	Murray, L
35.00	\$45.71	\$ 1,599.85	Nielsen, D
-	\$29.22	\$ -	O'Rourke, B
9.00	\$32.96	\$ 296.64	Phillips, J
4.00	\$55.29	\$ 221.16	Pomeroy, N
-	\$55.31	\$ -	Prather, D
3.00	\$41.24	\$ 123.72	Ritchie, B
3.00	\$47.61	\$ 142.83	Rodriguez, G
45.00	\$23.51	\$ 1,057.95	Staton, S
1.00	\$55.83	\$ 55.83	Teal, L
1.00	\$34.40	\$ 34.40	Velazquez, J